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1. Page 14, second line from bottom:
5 x 10?2 atoms per cubic metre.
should be replaced with

5 x 10?2 atoms per cm?.

Page 23, Fig. 2.9: The correct figure is given below.
correct in the original figure.)

(The x-axis label for plot (b) was not

T T | T T T T T T T T T
1 ST,
N —T=0K
0s - 200K ——L—\\.:\u."‘ L 00K
’ 300K ————*%ix
400K -————éxk_
0.6 i
2 |
£
0.2 F
0k Ns Sl - o
| | | | | | |
-0.2 -0.1 0 0.1
E — EF (GV)
(b)

3. Page 25, Eq. 2.15 should be
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. Page 33, Fig. 2.17: The correct figure is given below.
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5. Page 60, Fig. 2.33: The correct figure is given below.
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6. Page 65, Fig. 3.4: The correct figure is given below.
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7. Page 81, just before Eq. 3.31:

Y(wn) — P(zp) =qVj
should be replaced with

¢(xn) - 77Z)(xp) = VJ
8. Page 82, the equations,

Vi = Va
n(z,) = nyo exp ( > ) = 4.83 x 10°.
Vr
i — Va
p(Tn) = pno €xXp ( b ) =2.41 x 10".
Vr

should be replaced with
n(z,) =n Ya) 483 x 108 em™?
p—poexpv—.x cm” .
T
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P(Tn) = Pno €Xp (E) =241 x 10" cm ™3,
Vr
9. Page 84:

L,=+/12.0 x (1 x 1079) = 1.14 pm.

should be replaced with

L,=+/129 x (1 x 1079) = 1.14 pm.

10. Page 93:

L, = \/Dp7, = V12.9 x 5 x 10~6 cm = 80.3 pum,
L, = \/D,7, = V/38.7 x 2 x 1076 cm = 88 um.

should be replaced with

L, = v/D,7, = V12.9 x 5 x 10~6 cm = 80.3 pm,
L, = /D7, = V387 x 2 x 106 cm = 88 pum.

11. Page 106:
The electric field must be continuous ...
should be replaced with
The electric displacement D = ¢ & must be continuous ...

12. Page 111:
As we have seen, turn-off of a pn junction ...
should be replaced with
As we will see, turn-off of a pn junction ...

13. Page 112, Fig. 3.40: The correct figure is given below.
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14. Page 126, Eq. 4.15 should be
Val(t Va(t
i(t) = I, [exp ( V(T)> - 1] ~ I exp ( V2)> .
15. Page 138:

.. enters the forward bias regime (sometimes between ...
should be replaced with
.. enters the forward bias regime (at some time between ...

16. Page 205:
(b) With E < C, we have
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should be replaced with
(b) With E < C, we have

D N, D N, 1 2x 1074 1016
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17. Page 210, line 3:
as long as Vop <0V (i.e., a reverse bias across the C-B junction), since the C-B diode
current is negligibly small in that case.
should be replaced with
as long as Vop > 0V (i.e., a reverse bias across the C-B junction), since the C-B diode
current is negligibly small in that case.

18. Page 280:
2¢
here h=a —W =,/ —(V; — V).
where a \/qu( b )
should be replaced with
2€
here h=a —W=a— /] —(Vi; — V).
where a a qu( b ()

19. Page 280: Eq. 9.3 should be
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20. Page 289:
The caption of Fig. 9.10 should include:
The gate voltage is Vg =—1V.



21. Page 308, Fig. 10.7: the correct figure is given below.
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22. Page 310, Fig. 10.9 (b): the correct figure is given below.
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23. Page 312, Fig. 10.10: the correct figure is given below.
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24. Page 311: Eq. 10.11 should be

dt, e%/’”d“’ L[re _ VYo
0

&, = — pdy — &,(0%) =

+ €si Jo+ €si

dy €
25. Page 317, Fig. 10.14: the correct figure is given below.
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26. Page 326: Eq. 10.30 should be

j{ D.-dA = —j{ € E(z,y) dA,
AA'B'B AA'B'B

jé D-dA:—l—]{ € E(x,y) dA.
DD'C'C DDIC'C

27. Page 327: Eq. 10.31 should be
AxAz/ g(p—n—N,)dy = —AxAzeEY ().
0
28. Page 329: Eq. 10.39 should be

dV,
Ip = //qn(xh%z)ﬂn%dydz
dv, dV,

= u, W —d; gn(zy,y)dy = —p, W o Qr(z1).
929. Page 334: Eq. 10.45 should h Ip i stead of 2P
. . . . snou ave —mm— .
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